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QUESTION 1

Given the following CREATE TABLE statement: 

CREATE TABLE customer(custid INTEGER, info XML) 

And the following INSERT statements: 

INSERT INTO customer VALUES (1000, 

\\' John Doe 

 

25 East Creek Drive 

Raleigh 

North Carolina 

27603 

 

919-555-1212 

john.doe@abc.com 

\\'); 

INSERT INTO customer VALUES (1000, 

\\' Paul Smith 

 

412 Stewart Drive 

Toronto 

Ontario 

M8X-3T6 

 

919-555-4444 

psmith@xyz.com 

\\'); 

What is the result of the following XQuery expression? 

XQUERY declare default element namespace "http://custrecord.dat"; for $info in db2-fn:xmlcolumn
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(\\'CUSTOMER.INFO\\')/customerinfo where $info/addr/state-prov="Ontario" return $info/name/text(); 

A. Paul Smith 

B. Paul Smith 

C. Paul Smith 

D. Paul Smith 

Correct Answer: 

 

 

QUESTION 2

Which of the following isolation levels will lock all rows scanned to build a result data set? 

A. Uncommitted Read 

B. Cursor Stability 

C. Read Stability D. Repeatable Read 

Correct Answer: D 

 

 

QUESTION 3

Given that tables T1 and T2 contain the following rows: Table T1: C1 C2 

1 4 1 3 1 2 Table T2: C1 C2 

1 1 1 2 1 3 

Which of the following queries will return only those rows that exist in both T1 and T2? 

A. SELECT * FROM t1 UNION SELECT * FROM t2 

B. SELECT * FROM t1 UNION DISTINCT SELECT * FROM t2 

C. SELECT * FROM t1 INTERSECT SELECT * FROM t2 

D. SELECT * FROM t1 WHERE (c1,c2)= (SELECT c1,c2 FROM t2) 

Correct Answer: C 

 

 

QUESTION 4
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A UDT is a data type which: 

A. must contain unique values. 

B. cannot be CAST to other data types. 

C. is created using the CREATE DISTINCT command. 

D. contains a value that was automatically calculated from values in other columns. 

Correct Answer: C  

 

QUESTION 5

Which of the following tools for DB2 V9 allows a user to create and debug a SQL stored procedure? 

A. Control Center 

B. Development Center 

C. Developer Workbench 

D. Stored Procedure Builder Security 

Correct Answer: C 
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